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Age estimation by vertebral body observation using CT images

Chiba, Fumiko
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The thoracic and lumbar vertebrae were observed using CT images, and the
regression equations for age estimation were examined using the osteophytes of thoracic and lumbar
vertebra. The degree of osteophyte formation; P, was classified into six grades, from 0 to 5, based
on the length of the perpendicular line from the maximum osteophyte down to the vertebral edge. A
single regression analysis to determine age with the sum of P in each vertebral body (score P) and
maximum P (max P) showed a relatively good correlation.

The regression equation when “ score P’ was the explanatory variable were Y = 0.4124X + 31.169 (R2
= 0.7417) for males and Y = 0.5152X + 31.809 (R2 = 0.787) for females, and when “ max P’ was the
explanatory variable were Y = 9.6855X + 21.334 (R2 = 0.7869) for males and Y = 9.9613X + 23.424 (R2
= 0.7849) for females.
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